Solutions to Selected END-OF-CHAPTER Problems Chapter 2

Important Note: [image: image1.wmf]¸

 is used to get the [image: image2.wmf]/

 mark

7.
(19 + 2 / 3 ) [image: image3.wmf]MATH

[image: image4.wmf]FRAC

[image: image5.wmf]ENTER

 59/3

9.
(44/52) [image: image6.wmf]MATH

[image: image7.wmf]FRAC

[image: image8.wmf]ENTER

 11/13

15.
(3/7) + (4/21) [image: image9.wmf]MATH

[image: image10.wmf]FRAC

[image: image11.wmf]ENTER

 13/21

17.
(6 + 3/8) = (9 + 1/24) [image: image12.wmf]MATH

[image: image13.wmf]FRAC

[image: image14.wmf]ENTER

185/12 Student must divide to change the answer to a mixed number. = [image: image15.wmf]5

15

12


19.
(11/12) – (1/12) [image: image16.wmf]MATH

[image: image17.wmf]FRAC

[image: image18.wmf]ENTER

 5/6

21.
(12 + 1/9) – (4 + 2/3) [image: image19.wmf]MATH

[image: image20.wmf]FRAC

[image: image21.wmf]ENTER

 67/9 Student must divide to change the answer to a mixed number. = [image: image22.wmf]4

7

9


23.
(5/6) * (3/8) [image: image23.wmf]MATH

[image: image24.wmf]FRAC

[image: image25.wmf]ENTER

 5/16

25.
(4/10) *(30/60)*(6/10) [image: image26.wmf]MATH

[image: image27.wmf]FRAC

[image: image28.wmf]ENTER

 3/25

27.
(12/9)[image: image29.wmf]¸

4 [image: image30.wmf]MATH

[image: image31.wmf]FRAC

[image: image32.wmf]ENTER

 1/3

29.
(4 + 2/3) [image: image33.wmf]¸

 12 [image: image34.wmf]MATH

[image: image35.wmf]FRAC

[image: image36.wmf]ENTER

 7/18

31.
a.
545 × (3/4) [image: image37.wmf]MATH

[image: image38.wmf]FRAC

[image: image39.wmf]ENTER

 1635/4 Student must divide to change the answer to a mixed number. = [image: image40.wmf]3

408

4



b.
537 – [image: image41.wmf]3

408

4

 [image: image42.wmf]MATH

[image: image43.wmf]FRAC

[image: image44.wmf]ENTER

 513/4 Student must divide to change the answer to a mixed number. = [image: image45.wmf]1

128

4


33.
(2 + 1/4) + (1 + 3/4) + 5/8 [image: image46.wmf]MATH

[image: image47.wmf]FRAC

[image: image48.wmf]ENTER

 37/8 Student must divide to change the answer to a mixed number. = [image: image49.wmf]5

4

8


35.
(14 + 1/4) + (5 + 1/4) + (8 + 1/2) + (7 + 1/4) [image: image50.wmf]MATH

[image: image51.wmf]FRAC

[image: image52.wmf]ENTER

 [image: image53.wmf]141

4

 Student must divide to change the answer to a mixed number. = [image: image54.wmf]1

35

4


37. 
a.
(31 + 1/2) + (11 + 1/2) + (5 + 1/2) + (4 + 3/4) + (31 + 3/8) + (34 + 1/2) [image: image55.wmf]MATH

[image: image56.wmf]FRAC

[image: image57.wmf]ENTER

 953/8  Student must divide to change the answer to a mixed number. = [image: image58.wmf]1

119

8



b.
2 * 7 = 14ft
14 * 12 = 168 inches
168 – [image: image59.wmf]1

119

8

[image: image60.wmf]MATH

[image: image61.wmf]FRAC

[image: image62.wmf]ENTER

 391/8 Student must divide to change the answer to a mixed number. = [image: image63.wmf]7

48

8


39.
(19 + 1/4) – (12 + 3/4) [image: image64.wmf]MATH

[image: image65.wmf]FRAC

[image: image66.wmf]ENTER

 13/2 Student must divide to change the answer to a mixed number. [image: image67.wmf]1

6

2


41.
$250 * (3 + 1/2) [image: image68.wmf]ENTER

 $875

43.
1 – (1/9) – (1/4) [image: image69.wmf]MATH

[image: image70.wmf]FRAC

[image: image71.wmf]ENTER

 23/36

45.
(1/5) * 125 [image: image72.wmf]MATH

[image: image73.wmf]FRAC

[image: image74.wmf]ENTER

 $25

47.
The new recipe is [image: image75.wmf]1

2

2

times the original recipe.

	Ingredient
	Amount needed in new recipe

	Apples
	(1 + 1/2) * (2 + 1/2) [image: image76.wmf]MATH

[image: image77.wmf]FRAC

[image: image78.wmf]ENTER

15/4 Student must divide to change the answer to a mixed number. = [image: image79.wmf]3

3

4

 pounds of apples

	Flour
	(3 + 1/4) * (2 + 1/2) [image: image80.wmf]MATH

[image: image81.wmf]FRAC

[image: image82.wmf]ENTER

65/8 Student must divide to change the answer to a mixed number. = [image: image83.wmf]1

8

8

 cups of flour

	Margarine
	(1/4) * (2 + 1/2) [image: image84.wmf]MATH

[image: image85.wmf]FRAC

[image: image86.wmf]ENTER

5/8 cups of margarine

	Sugar
	(2 + 3/8) * (2 + 1/2) [image: image87.wmf]MATH

[image: image88.wmf]FRAC

[image: image89.wmf]ENTER

95/16 Student must divide to change the answer to a mixed number. = [image: image90.wmf]15

5

16

cups of sugar

	Cinnamon
	2 * (2 + 1/2) [image: image91.wmf]MATH

[image: image92.wmf]FRAC

[image: image93.wmf]ENTER

5 teaspoons of cinnamon


49.
If 5/6 preferred I-phones over the Blackberry, then 1/6 prefer Blackberry.
(1/6) * 1400 [image: image94.wmf]ENTER

400 people

51.
22 * (12 + 1/2) [image: image95.wmf]MATH

[image: image96.wmf]FRAC

[image: image97.wmf]ENTER

275

52.
(3 + 1/8) + (5 + 1/2) + (6 + 1/4) + (4 + 1/4) [image: image98.wmf]MATH

[image: image99.wmf]FRAC

[image: image100.wmf]ENTER

153/8  Student must divide to change the answer to a mixed number. = [image: image101.wmf]1

19

8


(23 + 1/4) – (19 + 1/8) [image: image102.wmf]MATH

[image: image103.wmf]FRAC

[image: image104.wmf]ENTER

33/8 Student must divide to change the answer to a mixed number. = [image: image105.wmf]1

4

8


53.
If the watch is reduced by ¼, then the selling price is ¾ of the original price.

$600 * (3/4) [image: image106.wmf]MATH

[image: image107.wmf]FRAC

[image: image108.wmf]ENTER

 $450.
54.
(4 + 1/4) + (9 + 1/8) + (4 + 1/4) + (3 + 1/2) + (10 + 5/8) [image: image109.wmf]MATH

[image: image110.wmf]FRAC

[image: image111.wmf]ENTER

127/4  Student must divide to change the answer to a mixed number. = [image: image112.wmf]3

31

4


(49 + 1/2) – (31 + 3/4) [image: image113.wmf]MATH

[image: image114.wmf]FRAC

[image: image115.wmf]ENTER

71/4  Student must divide to change the answer to a mixed number. = [image: image116.wmf]3

17

4

 hours to go.

ADDITIONAL SET OF WORD PROBLEMS

55.
(81 +1/2) – (36 + 5/16) [image: image117.wmf]MATH

[image: image118.wmf]FRAC

[image: image119.wmf]ENTER

723/16 Student must divide to change the answer to a mixed number. = [image: image120.wmf]3

45

16

 inches

56.
750 [image: image122.png]


 (1/9) [image: image123.wmf]ENTER

6,750 bags

57.
6625 [image: image124.wmf]¸

 (13 + 1/4) [image: image125.wmf]MATH

[image: image126.wmf]FRAC

[image: image127.wmf]ENTER

500 parcels

500 parcels * $125,000 = $62,500,000

First year: (3/5) * 500 * $125,000 [image: image128.wmf]ENTER

 $37,500,000
58.
If 1/9 preferred pasta, 8/9 preferred hamburger:

(8/9) * 5400 [image: image129.wmf]ENTER

4,800 people

59.
1 – (3/8) – (1/4) [image: image130.wmf]MATH

[image: image131.wmf]FRAC

[image: image132.wmf]ENTER

3/8

60.
(4 + 1/2) +2 + (1/2) + (2 + 3/4) + (3/4) + (4 + 7/8) [image: image133.wmf]MATH

[image: image134.wmf]FRAC

[image: image135.wmf]ENTER

123/8 Student must divide to change the answer to a mixed number.  = [image: image136.wmf]3

15

8

 

61.
If the truck has traveled [image: image137.wmf]1

5

of the way, it needs to travel [image: image138.wmf]4

5

more to complete the trip.
(4/5) * (3+ 1/4) [image: image139.wmf]MATH

[image: image140.wmf]FRAC

[image: image141.wmf]ENTER

13/5 Student must divide to change the answer to a mixed number. = [image: image142.wmf]3

2

5


62.
(1/5) * $30,000[image: image143.wmf]ENTER

= $6,000 increase

$30,000 + $6,000 = $36,000

CHALLENGE PROBLEM
64.
a.
Number of homes to be built. 900 [image: image144.wmf]¸

(2 + 1/4) [image: image145.wmf]MATH

[image: image146.wmf]FRAC

[image: image147.wmf]ENTER

 400 homes


b.
Selling price of each home. (1 + 1/3) * 240000 [image: image148.wmf]MATH

[image: image149.wmf]FRAC

[image: image150.wmf]ENTER

 $320,000


c.
Number of people responding to survey. (1/4) * 12000 [image: image151.wmf]ENTER

 3,000 people



Number of people desiring oil. (5/6) * 3000 [image: image152.wmf]ENTER

 2,500 people


d.
Average monthly cost to run oil heat per house 270gallon tank * 5 fills per year * $1per gallon [image: image153.wmf]¸

12 months per year [image: image154.wmf]ENTER

$112.50


e.
Amount of profit Jack will receive from the sale of homes. 

Jack’s partnership = 1 – (1/4) – (1/5) [image: image155.wmf]MATH

[image: image156.wmf]FRAC

[image: image157.wmf]ENTER

11/20 of development

Total profit per home = (1/8) * $320,000 [image: image158.wmf]ENTER

 $40,000

Total profit for all homes = $40,000 * 400 homes [image: image159.wmf]ENTER

 $16,000,000

Jack’s profit = $16,000,000 * 11/20 of development = $8,800,000
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